WINAM GROUP

081240M )

SPORT DATE:  24.8.2017 1(3)
(D) 706029 [Pcs|(2) 705041 [pes
1 i

N

< || 19x451x1240 | |
(3) 705048 |pcs|(2) 705063 |pcs|
DET 5,17 2] Q 3|
@ 120x120 | | 19x951x1240]| |
PARTS (5) 705350 |pes|(6) 902234 |pes
)ﬁ 2 | 2
120x120x3990] | M2 | |

(7) 980114 |[pcs 905051 |pcs

] H
18x78 | | @22 | |
(139 905761 [pes|(4) 905830 |Pes|
/ﬁ 4 2
120x120x700| | 123x123x40 | |
(15 906021 [Pcs|(16) 907538 |Pcs|
| 2) 1

042,4x1252 B 242,4x1252 I

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

081240M

N

s

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333

SPORT DATE:  24.8.2017 PLANAY 2(3)
Pes|38) 909102 [pes|(19) 909203 PCs|GQ) 909233 [Pes(2) 909253 [Pes|32) 909256 |PCS
| 6] 2 ] 4] 2 68|

e gl - (=
130x44x52 | | M12x200 | | M8x75 | | 8x100 | | 832/135/2 | | 216 /8.4 N
23 909633 [pcs|@4) 909852 |pes| ) 980104 [Pes|) 980123 [Pes|@)) 980150 [PCs|@8) 980151 [pes|
58 %8 2 68 1 2
= @
@ - N g
M8 ] M8x30 |- | o5x90 | | o7x60 | | M8 B 216/8.4 B
980152 |Pes|@39) 906751 [Pes|(3)) 906009 |Pes|
58| 1 | 2 |
TN
024/8.4x2 | | | @42,4x1252 | |




WINAM GROUP 081240M

1500

SPORT DATE:  24.8.2017 3(3)
1:49 1:53
PARTS
DET 23
=
ﬂﬁ
\
o H
S K “H o
H A S
v — g L
| 1370 | o
| | 9
Area of Movement 15 m2 1:55
Training Space 3.1 m2
Max Falling Height O mm
780
1500 H \6
S 1540 ST
2 S
{ \{l
\/

3780

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

Impact Area EN 1176 REF:

DATE:

20.2.2018

U
X/\

]

3

h <600

Without movement
and therefore
without Impact Area

Totally hard surfaces.

Note. Lappset does not recommend
totally hard surfaces at all.

E.g. concrete or asphalt

h <600

With movement
e.g. rocking

Materials with very limited
impact attenuating
properties.

E.g. wood

U 1Y Dl 1Y

M

h <1000

Materials with significant
impact attenuating
properties.

fine gravel 0—8 mm
B e
SR L 44

G oac G4 a4ga
2<% 10 cm i
4.4 - 44

Py
a

unsorted sand

e

h <3000

Loose fill material

E.g. Toae
sand/gravel 0,25..8 mm D60/D10<3,0 | 2 Lot <
Woodchips 5...30 mm i ¢ ae O l. o,
bark 20...80 mm < . ) “
eSS S
S h
30 cm < 2,0 m
40 cm < 3,0 m
Syntethic granulates ’—‘
S h
40 mm ~> 1,2..1,3 m S
50 mm ~> 1,5...1,7 m 1 A2 L SL //Ls‘
60 mm ~> 1,8..2,0 m :::*:7:*:::::::::::::::
70 mm ~> 2,1..2,5 m = =sloioi-oT-T-T

Note. For accurate values, see
manufacturer’'s instructions.

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text


A
WINAM GROUP 's

EN 1176 FOUNDATION REF: PLAY
DATE:  20.2.2018

REMOVE SAFETY SURFACE/SAND/GRAVEL
TO CHECK FOUNDATION

REMOVE SAFETY SURFACE /SAND /GRAVEL
TO CHECK FOUNDATION

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



PAYL

SPORT DATE: 8.12.2016 1(10)
DET 1 DET 2
V16 1 > 150 .
9| {O——1 7
: 5 g e 120 Nm
s @ . M16x170
o [[O]] ] = '
= . ] x : Go o
2 S So ) - d% o°
T i 9°),9°mge 9°Bg° 97 9" dege
N RS S S 55 S S R R 5
905/380 / 160 Concrete / Betoni K30
DET 3 DET 4
)/ x60
(980123)
M10
(905104) 716 /8.4
(909256)
905/80
DET 5 DET 6
N N N
l 540 l 64%
@)
N O
O
I | E R I
K4 % .oo égjooooooo.. OOOSOS o9 Oé | rrr
2 g 1 oQ __Q A v
PrBwrrrrrrrrzrrrrrrnr
CONCRETE 300x300x1500




WINAM GROUP BASE
=1 AY
SPORT DATE: 2.11.2018 2(10)
DET 7 ?8x400 (x2) DET 8
A 500 HW
\/
A
)
O
O .0 ooO /O°°o o, -
L R OOO o°°o O"oo 9, R - M W O 2
N 00| |00 o, i (905104) e 2 e
SN0 D8 0 808 D8 8 8 % T g
905761 S
<5OOX5QO> —_—
Concrete / Betoni K30 ~
DET 9 DET 10 ?8x400 (x4)
A 500 HW
0 /x60 7 i
(980123) T
92
0 S
il e I
S e E% e i iéz”so ©
74 6/84 R\—?f@j\ ") °({O:‘;]g ° % 58:%050 - iV
(309256) S Y Y Y Y Y Y
300x500
.y Concrete / Betoni K30
DET 11 DET 12
~
e, &
57x60 > @
(980123)
M10
(905104)™__g 216 /8.4
7 (909256)
N -y
N N

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

BASE

SPORT pATE: 2942015 =/ 3(10)
DET 13 DET 14
g16 1 > 130
o (O —T
) o e © P 120 Nm
00" —% . M16x170
O
s OO |-
o o) (Sl

(O |
906557 /L . J

u‘:D
EE jmal
OO oO ° 0 OO o odo
oO Oo O ¢
O opget 0°gae O Q °o°

/?SOAA%XXUOA/%V?ﬁ?SOA
Concrete / Betoni K30

DET 15

DET 16
. ~
e i D
3 07x60 > ® o
= (980123)
(905104) v
By
@W6/84
(909256)
906557/
DET 17 DET 18

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



N

WINAM GROUP BASE s

SPORT DATE: 29.42015 © /(" 4(10)

DET 20

D10 Vv 90
<4x

i/

>100

o o ° ° 5 B o

Qv of &° Qooo“q’ Q%o @°
° °

Q° Lo o c

o o L

Q° o ° 0°

Safety surface

J%% Al L
NONTSENS TSN TSN
Betoni /
Concrete
22

DET
T
@)
O
(@) )
v .
78 o
3 = -
fi%(ﬁ = = i
N AP P
830
DET 23
902272
| 902272
PN M10x25
== & = (909639)
“Je ® ° - 909519
: @2@/%}5
572\ (909638) 9 ©
i (909637) M10 e ©20/10.5
902272 (909637) ™ ® (909638)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

A

BASE [

N
SPORT DATE: 29.42015 ~ —/\T 5(10)
DET 25 ~- |DET 26
Esireikad Pre—drill hole.
705412 /
210 1 90
55 Nm
@n
) <« M10x100
Ook K o
905743 - : - BN ;P°$o
e Betoni / Concrete K30. O
M0 — e : -
afety surface A
DET 27 DET 28
/05096
//////E 906140
905745
M10x100 H TNl L e .
(909628)
DET 2 Esireikd / Pre—drill hole. DET 30
@10 1 90
59 Nm
<« M10x10Q
%
Betoni / Concrete KJ30. =
Safety surface A

WinAm Groub / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333




N

WINAM GROUP BASE 4
PLLAY
SPORT DATE: 29.4.2015 6(10)
DET 31 DET 32
M10x25
/(9096 39)
é% fimrnuN \ 7| s
S -
vti%(/ 55
PN 00
D, . #20/10.5
(509637) (909638)
DET 33 DET 34
906644
506645
(909248) J
M10x 30
524 /13 g (s09629)
(980154) ) 220/10.5
= (909638)
& © ® M10
MT2x40 /& 9 ® |g——" (909637
005299 L
DET 35 DET 36
‘ 9022/2
ﬁﬁ it M10x25
= |o (909639)
< s 220 /10.5
N (909638)
909519
T M 10
- 90965/
ﬁﬁgﬁy//////T )

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP BASE

J
¢

SPORT DATE: 29.42015 ' —/% " 7(10)
DET 37 DET 38
J10 7 >90
AR\ NN I \
\\\\ \\\ 4 N
\, N\ Lmv %D O
NeE 3 o
= O Qs Opg ®) @) Q
Al ° o 0 °. Q@ &
[ : ]
“9¢ Hos 87 Hoege L —O O
% 905817 _~— —
Betoni
M10x100 Concrete 906014
DET 39 DET 40

/0505472

909628 @ |e| e

M1OxTOC
(909628)

DET 41 DET 42

Esireika / Pre—drill hole.
210 T 90 -, 35 Nm

/anﬁ--ll
<« M10x100
A
\ 4ﬁ¢%¢7 \¥%¢

° . og of
Ropo "1 s Soe 0"
o2 o2 LS
° o
° o oo 02
2 O . i oo | o

\ Betoni / Concrete K30.

Safety surface

O
O
AN

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



N

WINAM GROUP BASE s

SPORT DATE: 15.82017 © —=/\T 8(10)
DET 43 DET 44
] 904064 o
ﬁ?? i’ M10x25 .
= |a (909639)
< s T 820/10.5
—Z—="N (909638)
909519
- o M10
= 909635/
Eﬁ,@y/////T )
DET 45 DET 46
V103 >90
O O
N\ | & O
2 || o [ s o o
L Qe L s Qe
SR T 906114 90
M7T0Ox100 \Efﬁ?&e
DET 47/ DET 48
216 /8.4
980151
M8 M10O
(980150)
ST 220 /10.5
% (909638) 909519
M10x7100 MTOX25 =
(909628) (909639)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

BASE

SPORT DATE:  29.4.2015 " 9(10)
DET 49 DET 50
O
O
O )
v X AN N
f o NN N\
ST T O v SR e IR
= 0 ’ 2l gege [l %l esgq 8
§7 = = ﬁ 1 Qs Qs OOOEO: Og 05 Q¢
| SN DN DN °. %% @° OO/A\ROZD: °5
830 M10x100 /  \“Getiee
DET 51 DET 52
V107 >90
.
—O O
> O
7 Y
909628
906731 90
DET 53 DET 54 906/29
- M10%x25
- . (909639) \
¢20/10.5 /4
7 N (909638) AR
NN !E
290
909519

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP
SPORT

BASE "o/
oATE: 2042015 /M 10(10)

DET 55

1500X

STEELNET @6 #150
(1400%x2100)

Concrete

2200X200 K30

NOTE!
HOX!

O
O
A

T %}i

ISR TR TS T 5 IR

DET 56

DET 57
906 /20

VA S —

MTOx25
(909639)

(9096 38)

YA A A AV A/ A/ A/ A/ A/ A

M710O
<909657>
DET 58 DET 59
Esireikad
Pre—drill hole. ~
»10 J 90
M10x100 o if
35 Nm o n| ©
Z A\
o) o o (&)

\
o0 o 0.° o .°
AT TLer ¢ 2
.20\ 0" %" 0-.° > Q
5 ° ° ° ° >

\ Betoni / Concrete

Safety surface

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




C

WINAM GROUP PARTS
SPORT DATE: 26.8.2015 TLAaT 1(10)
DET 1 DET 2
716 /8.4
@ 216/8.4
) ‘ (909256) \
: \_ﬂ' ™\
07x60 % }ﬁ
(980123) !
|
905934
DET 3 DET 4 .
0 L M8 «
705024(—xc| | I iMoo (009633)]  /(0092%)

M8 ! SCrews 905956
(909633) —@ (901899) ¥ i MBx35
@W6/8 4 / 5 / (909855)

909256 'f Two—sided
( ) /N use M8x45

M&8x35 SCrews
(909855) el (901899)
Acryl+sticker @//
OET 5 (16 /5 4 DET 6
50935653 TYED 716 /8.4
(980123) (909256)
D/x60 =
(980125) 906009
)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




A
WINAM GROUP PARTS '‘»
SPORT DATE: 26.8.2015 | —=/\T 2(10)
DET 7/ DET 8 @24/W3

M8 @24 /8.4 58015

(909633) \ (980152) @ < )

. M12 X140
o (909246)
i M8x30
(909852) / 905105
.
DET 9 DET 10
/05049
216 /8.4
(909256)
7X60 i PRI
(980M23r\\\f77“ /
/ [T @7x60
906114 / (980123)
® e I /0953597
DET 11 DET 12
D760
7053979 (98“23)
& 716 /8.4
M10 olle e (909256)
(905104) =@ B

/05597

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



PARTS P’?

WINAM GROUP
SPORT DATE:  26.8.2015 A 3(10)
DET 13 DET 14
LO)
216 /8.4 s
(909256)
@ /x60

(980123)

Place the logo laterall

DET 15 DET 16
Wox90
&@2% (980104)
332 /13.5 e 905830
(909253)
Place the logo laterall
M12 @24 /8.4
(902234)\ “ (909505)
DET 17 DET 18
Wox90
3590 05x90 __—]
(98X(NO4> | (980104)
905830 905850

Place the logo laterdll

WinAm Group / playground.com.vn/ info@playground::m.vn -(028) 22 494 333




V- N
WINAM GROUP PARTS '»
SPORT DATE: 26.8.2015
DET 19 = = DET 20
\ MT10x40

- (901487)

M10x35

(902252)
220,/10.5x2 19x21x25
(901302)

(903193)
MIT0 ©20/10.5x2
M10
(909637)
DET 22
DET 21

@ 705433
N 705434
Rad / 38x70
Huovioson sifitus (903193) (900240)
=%
=
DET 23 DET 24
032 716 /8.4

(980151)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



PARTS '»

WINAM GROUP
SPORT oaTe: 2682015 | — /N 5(10)
DET 25 M8><25 DET 26
(909850) AN 216/8.4
™1 f (9@9256)
24/804 ) 07 %60
(980152) (980123)
M8 -
(980160)\ |~ /00459
NS ] 27x60
A\, Y (980123)
DET 27/ DET 28
@16 /8.4
(909256)
9U6o// ~ £ B7x60 <;;;;> e
. (980123) ™ ¢5 ?§
B5X60
15% 35 (980100)
980129 )
( ) v &
DET 29 DET 30
MB8x 30 <
902195
M10%x 30 (9@9852)
, 906117
(902233)
724 /8.4
ﬁ\\\\\E 3 (980152)
o 8
" M10 e N
e a/f%\\ M8
M10x55 100
980125 .
906006 (902232) ( ) 016/8.4
(909256)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM
SPORT

GROUP

PARTS '»

DATE: 24.6.2020

DET 31

716 /8.4

(909256)

J/x60

/05401

(980123)

DET 32

<M8X4O> 7 €
909875
Y

X @WG/%;4
)

DET 33

/05502

716 /8.4
(909256) \
c}

1 /x60

(980123) P LAl

THE WATER HOLE J

17 705520
;\\\
a) THE WATER HOLE

[IRN

(WEx60
< (906630)

DET 36

90663/

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




C

WINAM GROUP PARTS
SPORT DATE: 26.8.2015 LA 7(10)
DET 37 DET 38

N~
0 ¢
@7x60//
/055608 (980123)
<L) 216 /8.4
M10 i (909256)
(905104) =@ | g @
&
705568
DET 39 DET 40
906615
— —
: _ ,
ﬂ /N. \
A G @) ' )
i q N J @7x60 2} esl
o (980123)
906613 = L D16 8.4
(909256)
DET 41 DET 42
M8x 40
(909873) MTO MTOx55
705585 (980161) (902232)

(909256)

M8

(980160)

M10Ox30
(902233)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP
SPORT DATE: 26.8.2015 PLAY 8(10)
DET 43 DET 44
Wox60
0ox60 (980100)
M\\
,1/
9000835 N /7
/05400
DET 45 DET 46
8x60 N
(906630) \\\. S
/ \\‘“\
a kv
S & \
/05098 Vi |
906147 i TII1 |
INERER
W
(980128)
DET 47 \/ DET 48
D5x40 3870 705037
(980102) I (900240)
Juples 905800 ™ &
2 W5 1 60
1 “ (x2)
Huom!
Fsireika
Note:
Pre—drilled
(980106) o

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




C

WINAM GROUP PARTS

SPORT pATE: 26.8.2015 | =N 9(10)

o <%§;§> [Z?;OQO Ve

(905112) (906767 (980160) 18y 45
(901899)

216 /8.4
909256)
VEx90

(
(

903093)
908019

(98@W5©>
316 /8.4
(98OW5W>
MEx /0
(9@9267)
DET 51 M1 0% 30 V10%55 DET 52 @W6/804
902273 @322 (980151)
(905WW2>
MEx6H0
J57 <909097)
<905085>
P ) @
M8 B
902195 @
! M10 ®
DET 53 DET 54

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP PARTS

SPORT DATE: 26.8.2015 N 10(10)
DET 55 DET 56
@ ]
[ | O
™ Jox60
[ ) (980131)
[ |
I ]$ 906632
( I 9060652
T @ H
DET 57 DET 58
DET 59 DET 60

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP PRODUCT SIGN
SPORT DATE: 22.8.2017

118x78x0.7 @4x20
G
1
S
o |
Example installation ! Example installation !
Esimerkki asennus ! Esimerkki asennus !

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP PRODUCT SIGN
SPORT DATE: 22.8.2017 2(2)

I
]

Example installation !
Esimerkki asennus !

™ ] ™ ]
mstallation ! 1
asennus ! .

Example
Esimerkk

[J(e](r]

50
1650

I

1650

Example installation !
Esimerkki asennus !

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333





